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QUESTION 1

You are the Solutions Architect of a large company and are tasked with migrating all your services to Oracle Cloud
Infrastructure. As part of this, you first design a Virtual Cloud Network (VCN) with a public subnet and a private subnet.
Then in order to provide Internet connectivity to the instances in your private subnet, you create an Oracle Linux
instance in your public subnet and configure NAT on it. However, even after adding all related security list rules and
routes in the Route Table, your private subnet instances still cannot connect to the Internet.

Which action should you perform to enable Internet connectivity?

A. Disable "Source and Destination Check" on the VNIC of your Linux instance.

B. There is no way that a private subnet can connect to the Internet.

C. Create a Dynamic Routing Gateway (DRG) and route your private IP traffic to the DRG.

D. Restart the NAT instance.

Correct Answer: A

QUESTION 2

You are about to deploy an e-business application on Oracle Cloud Infrastructure and one of the
requirements is to use a shared file system that supports the NFS protocol.

Which storage service would meet this requirement?

A. object storage

B. block volume

C. data transfer appliance

D. file storage

Correct Answer: D

QUESTION 3

You have a shared file system between two web servers using File Storage Service (FSS) and you were tasked to
create a backup plan for this environment to protect the data placed into the shared file system.

What is the recommended approach to create this backup using FSS features?
A. Implement a backup policy to execute a snapshot of the shared volume.
B. Implement a backup policy to copy data from the shared volume to object storage.

C. Compress the data that is in the shared volume and copy it into a different folder on the boot volume disk.
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D. Use the rsync tool to send data from the shared volume to a boot volume disk.
E. Use the rsync tool to send data from the shared volume to a block volume.

Correct Answer: A

QUESTION 4

Which DNS resource record type is used to point a host name to an IPv4 address?
A. ALIAS

B.A

C. CNAME

D. AAAA

Correct Answer: B

Reference: https://docs.cloud.oracle.com/iaas/Content/DNS/Reference/supporteddnsresource.htm

QUESTION 5

You are designing a high bandwidth, redundant connection between your data center and Oracle Cloud
Infrastructure (OCI). While researching for OCI FastConnect locations, you notice that you are co-located
with Oracle at one of the Oracle FastConnect locations in the Ashburn region.

What is the recommended design in this scenario?

A. Create a cross-connect group and have two or more cross-connects in that group. Create an IPsec VPN connection
on this group.

B. Setup two IPsec connections between your data center and OCI Ashburn region. Create a OCI load balancer to
distribute the traffic across the two connections.

C. Create a cross-connect group and have at least two or more cross-connects in that group. Create at least two or
more virtual circuits in the group.

D. Create a cross-connect group and have at least one cross-connect in that group. Create at least one virtual circuit in
the group.

Correct Answer: C
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